A4 % 1 Ao} xghol Z71




ull
KO

5
=-2x-3+a=-2x-9

a
y




x dHo] 30|11, y Ao 9 ¢l AHL T L2 5= AA}gHro] A

Tolat

@y:_3x+9 @ y=-3x-9 ® y=3x+9
@ y=3x-9 ® y=3x

B ‘
x dHo| 3,y HHo|go|EHE

y=ax+bolAb=9,

7187l i a=-3,

Ly=-3x+9




@) mE 2emE Az A g,
@ JmAelE A T ¥ ek,
® A DL & S0l Bt
@ A 2RI F % A o] aemt

® Al e BF LAA

o
jabi)
tlo
B
L
O

S

ot.




Awo] -1 Q) AAFgH0] THZI} A (a, 9) 2

y=ax+b A 7]
y=-2x-19 (a,
9=-2a-1

2a =-10,a=-5




oy =2 _ 3 _
U =17 =3!
y=x+bo°l(1, -1) = HYs¥

—1:1+b,b:_25

3:(1—2,025




7.

A (2, 3), (-4, -3) & A= A 71L7|¢ty dHS 7}
2t 2 F-sho] ),
» Eh:
» E
> HE: 1
> HE: 1
o] Zte] 712k
> 071_1:_ (y/] %1\ o) ) o ==
== Sz =) )
=2 (2, 3), (-4, -3) 2 A= HA 7]L7]= }:3 -
6 _
6
y=x+bol(2 3) S HYStH3I =2+b,b =10°]E=
AR50 A1y = x4 1 o|ck, WetA] 71871 1,y AHL
10]

~



FAH M4 5), (-2, -7) = Ad= ALY DAt As y = ax+b
gt &, a+ b O] 27
®© -2 (@)—1 ® 0 @ 1 ® 2

(9] 2ol 37

ERCE T

6 T
YotH 5 =8+b,b=-3 0|B=Z AX}G4] A2y =2x-3
th. metA g + b = -1 ot}




o 5L ()’9’] kol %7]'?6]:) =
&7 e =) 1R

7_—1(_—‘21) _ % _ _% oJt}. y = ax + bollA

11 _
y=-xtbOIBR (2, —4)F s}

~4=-24b, b= o2, WA o] A YRI5 42
y=-7x+ 3 otk o A4l ygpe Dolek




10. 5 4 (3.7).(24) 8 At H4ol A (0 1) & AL W, a 9 FS
Fateler.

® -3 @ -2 ® -1 @ 0 @1

3
y=3x+bo°l (3,7) = HYstH b= -2,
y=3x-2°(a, 1) EHYstH a =1




ot 22 A4S J LR she dxbet A
Y

3__I
®© y=-2x+3 @)y =-2x+5 !

1 I R

®y=-=x+5 @y=§x+3 o >

_1 _____
®y=2x-1

(1, 3),(3, -1)= A==,
3-(-1)

1-3
y=-2x+k°l (1, 3)= HYStH k=5
SLy=-2x+4+5

71&71E= =-2




12.

x=29dy=40°]1 x=5Ld T y=
O y=2x+4 @ y=-3x+2
@ y=2x-2 ® y=3x-4

13

B

13-4 9
N = —— ===
187 =55 =5=3
y=3x+bo°l (2 4) A
4=3%x24+b, b=-2

Ly=3x-2




Dy=-2x+2 @ y=2x+4 @)y =2:-2
@y=2x—4 @y:_2x_2

o _2—(—4) §
(71&7]) = 2= (D "3
y=20+500 (2, 2) & Y5
2=2X2+4+b,b=-2
.'.y:Qx—Q

== =9

)




x+29] T Lo et v

- 2
]'cé'")l\‘y: §

ol %
=

14.

@ A (3,4)F Adth

7
R
A
file)
nmo
min
oF
¥
)

~30]ct.

o
puLip

@ x4+




15, QAFS f(x) = ax +b O TAHLI} b 228 VEF W, 0~ b 2]
e

£(5) - F(=3)
)

© y=nx+6 2 I Ze}y = Qof| A Thdct,

=-4

© -8 @ 8 @—10 @ 10 ® -12

(2] gtel WS |
O T grer war
y=nx+6 2] I}y 5 oA ThER y FHo] A}, o}
2HA 71 &717F -4, y AHO] 6 ) YA O|BR f(x) = ax+b

= f(x) =—4x+6 otk 2t a-b=-4-6 =-10 °|t}.

122 7]&7]7F -4 °|2 @A




16.

oy #4o] y = —3x 4 82] Jefjze} 3
=oiek olw, a+ b o] 727

® 4 @ 8 ® 12

B

y=ax+b-2

a=-30]B% y=-3x+b-2
(5, 2)E ddstd
2=-15+b-2,b=19
~a+b=16




A (6, 0), (0, 4) & At

y = ax+ b A
o A2
7]57](1272—5,)’12"517:4

2
L y=E== 4
y 3* Tt




